IS202 Quiz #8a (Lab Quiz)
Movie(title, year, length, inColor, studioname, producerC)
StarsIn(movieTitle, movieYear, starName)

MovieStar(name, address, gender, birthdate)

MovieExec(name, address, cert, netWorth)

Studio(name, address, presC)
Write a PSM function (using MySQL) that: Given the name of a movie studio, return the networth of its president. 
Provide sample run for the studio name MGM.
Note that ‘presC’ attribute in relation ‘Studio’ represent the same thing as the ‘cert’ attribute in the ‘MovieExec’ relation.
SOLUTION
DELIMITER $$

DROP FUNCTION IF EXISTS `all`.`PresNetWorth` $$

CREATE FUNCTION `PresNetWorth`(studioName CHAR(15)) RETURNS int(11)

BEGIN

DECLARE presNetWorth INT;

    SELECT netWorth

    INTO presNetWorth

    FROM Studio, MovieExec

    WHERE Studio.name = studioName AND presC = cert;

    RETURN presNetWorth ;

END $$

DELIMITER ;
Sample Run:
SELECT PresNetWorth('MGM');

20000000
